Unit 9 Inference and the Knowledge of the World

Jay (J): Hello, everyone. I am Jay Tanaka. Welcome to our special lecture “Modular Approach to Reading.” In
this unit, we will learn that “inference” is very important when you try to understand English texts.
Satoshi (S): AR EAZAICHIZ, BIATY, Z02=y FTIE, XELXZHML LY L THL &, AHENAR TH
Wl EATO ZEMIFFICHETHD LW T E2FWET, BEILENTZT TIIR Y 20D T,

J: We will see that your vocabulary and grammar alone are not good enough.

Let us first look at the following Japanese quizzes.

[Quiz 1]
ROBISCT, HEPHEEZ 7 7 ANERITHEE L £ L72h?

Who recommended whom as the class representative?
fEIIE T EZER L TN D, 7 7 AREITHEE LT,

Remember: we learned in Unit 7 that we can elide the subject and the object when they are easily
recoverable from the context in Japanese.

B CTEEE BREEPAR I T TH R BRI TT 1,

And the most natural interpretation here is ...

HEE L7 OBME - CTHEEE SN TN+ TL & 9,

The subject and the object are parallel between the two sentences. Is it too obvious?

T E £ 02

Then, how about the next one?

[Quiz 2]
HEMNFEZRT L TE LWL O T N?

Who is nice to whom?
&I FHZBER L TS, WOBELWINST,

This time, the subject of the second clause is most naturally understood as Tomoko.
BIIEFIZDODBBELOLNGTE, N0 o &b BRI T4,

Notice that the subject in the first clause and the subject in the second clause are not

parallel in this case.

H 3 OREE HAGE THIIL, RO OR300 LPHBRFEOTHRAR ENORAE LT, ASH TWDER 2 GHIZIE
el HER R 2 L CEE L TV kT

You can reasonably infer the identity of the missing subject and the identity of the missing object.

Now, the same applies in English.

ST, HEETHRICZ EDYTEEY £,

Here is another quiz in English.
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[Quiz 3]

Who is Ae and who is him?
Bob admires Jeff so he is trying to be like him.

If you only appeal to the fact that Ae and Aim are both singular males, you might think that Ae can be either
Bob or Jeff, and Aim can also be either Bob or Jeff.

H L. he & him b BHHBTHL LW IFRIZIFITH - TR L L S & T5 &, heldBob TH Jeff TH L <
T, him & Bob Th Jeff TH LW W) Z Lo TLEWNET, LinL, FEERITESITL X I D,

The most natural interpretation here is that he refers to Bob and Aim refers to Jeff. It seems to be very easy
because the subject and the object are parallel between the first clause and the second clause in this case.

Z ZTiE Bob & Jeff NN TE7ZNEF OV I, he & him BRI HDOT, L THH LKL LB L
WEEA,

How about the next one then?

[Quiz 4]

Who is Ae and who is him?
Bob admires Jeff because he is always nice to him.

Again, just in terms of the gender/mumber matching, Ae can be either Bob or Jeff, and Aim also can be either
Bob or Jeff.

ZZThEL, he RChim NHEMEHEETH L LW O FWMIZT 2R THTIE, WFEEA,

The most natural interpretation here is that heis Jeff and Aim is Bob.

SEITHTLS 2IEEN OG- Wik->T, held Jeff Z#5 L, him (I Bob #4573, LRI 202 b R T,

[A stuffed gorilla is on display, the sign saying “Don’t touch. A National Treasure”]

[Satoshi comes in, looks around carefully and touches the toy gorilla happily]

Jay [coming in]: Hey, Satoshi! Don’t touch! Can’t you see the sign?

Satoshi [surprised]: Oh! I'm sorry.

[ Jay blamed Satoshi because he had broken the rule. ]

What does this Ae refer to? You can easily infer that Ae refers to Satoshi in this instance.
FLSNTWRWIH 20 b7, BAIZE-7- AL TR Tho &, BRICHEER CTE 94,

Now, let us consider more closely what is going on in our mind here.

FL-HOBEO R TC—EKMPNEZ > TWAHDN, 9V TEICEZTHAELL I,
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Our Mind Infers #8910

(1) X admires Y
2 so A is trying to be like B.

We can make a reasonable inference that the situation in (1) is the cause of the situation in (2).
(DDRBRQ)ORBLDJERE Th 5 & AEICHER CE E T,

Here we make this inference based on our common sense or our general knowledge of the world.
SONDXBoDH DY ZEI L TNDHEWVIRENS, EHELD NN ELLDAND L D ITIRS -
R D E —REFICESWTEEMICHEERE L T\ Db T,

(1) & QDIEER L FLT- b DO — /i 6
A=X] IB=Y] LE5HMIZHETR LTS

This inference is reasonable because it is based on our general knowledge of the world, and the opposite
interpretation is very inconceivable.
A L BT 2 0l%, WiIZE X TREANHRICRDTL X 9,

Consider the next example.

3) X admires Y

4) because A is always nice to B.

We can make a reasonable inference that the situation in (4) is the “reason” of the situation in (3).
(DDORBA @)L [ ThDEGHMIHRTE T,

Here again, this inference is based on our common sense or our general knowledge of the world.
HHNDXNHDL MY ZER L TNDEWVWIIRED [HIH] L LT, EHE5D0 AR EL LD AT LT
WOBEBLLL LTWD D%, —RERICE SO THEMICHERZ L TV D bIiF T,

(3) & (W)DIFEH & FLT- B DO— R H TS
A=Y IB=X] LE5HMIZHTR LTS

This inference is reasonable again because it is based on our general knowledge of the world, and the

opposite interpretation is very inconceivable.
AL BEMIHRT 201X, T2 CTHRERBRICRDLTL LI,

Let us summarize the points so far.
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Interim Summary FRIE & &

In order to have good communication with the author, you need vocabulary and grammar.

[(EXFLIVWasa=br—TaldTh0lcddme s ]

4 N

* grammar

vocabulary

sentence grammar
text grammar
* inference

- knowledge of the world

k (common knowledge) /

However, you shouldn’t forget you need the following two things as well: inference and your knowledge of the

world.

HFE & SOEITEETY, LL, TN EFRU BWWIEHER O, GERHERZ T2 ) LRI 2 80372
HRR T,

When you read passages in your native language, say Japanese, you use your knowledge of the world and
your ability to make a reasonable inference very naturally and almost unconsciously.

RIFE CUEAGATVD & & B HITITFE SIS, AT 2 maeoHtin 2 & THAE-> T ET,
It is a very good idea to try to use them more consciously when you read passages in a foreign language.

Bearing this in mind, let us consider a few more examples.

Smartphones and Selfies: An Example AYRYPEIED (CDWTEFLUITNIE

If you are familiar with smartphones and selfies, the following passage is relatively easy to understand.

AwHRICEDERVICE LT, ROFEXOHIIZIIETEH L 2 TL X 9,

Self-portrait photos taken on a smartphone can be easily modified using PC technology:
filtered selfies. Experts, however, warn that when some of them are posted on the Internet,

they provide people with a wrong impression of what the person actually looks like.

smartphone

22 IR

filtered selfies

Bk SEEOMT
posted on the Internet

A UB =%y MCEHED, LW REEEICERLTOIIUE, 20y —V0FRIZFIZEH LS RNV TL L9,
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In other words, your knowledge of the world certainly helps you comprehend what the author wants to

convey. Now, here is a quick quiz again.

[Quiz 5]
What does this “them” refer to?
Z @ them (T &4 L TV ET0?

Self-portrait photos taken on a smartphone can be easily modified using PC technology:
filtered selfies. Experts, however, warn that when some of them are posted on the Internet,

they provide people with a wrong impression of what the person actually looks like.

If you simply look for the closest plural noun phrase, you may mistakenly take this “them” as referring to
“experts.”

BB RO DGR 2R D L35 & —FIEIZH D experts [HHMFE] 2T LHAR->TLEI ND
LIVER A,

If you use your commonsense knowledge, by contrast, you may easily notice that “posting experts on the
Internet” is strange in this context.

Lol Hikzff 23, MRz y MMV T 5] TEBNALWIZ LI CRBTE T,

Your knowledge of the world and reasonable inference tells you that “them” refers to “filtered selfies” in this
context.

T L HERR A A 20T them 23 2 Z Tl filtered selfies N L7z AR Y GE)ZFE LTV 2 2 ERARICDMNY
£

Your knowledge of the world and ability to infer are both crucial for comprehending English texts.

OK? Let’s wrap up.

Wrap Up F&&

Your rich vocabulary and accurate knowledge of grammar are essential for comprehending English texts.
Moreover, your ability to make a reasonable inference and knowledge of the world or general common sense
are no less important. Reading is not just knowing words and grammar.

U—7 4 73RO HEIZ T TEH Y A,

In order to read English texts correctly, that is, in order to have good communication with the author, your

knowledge of the world and reasonable inference are crucially indispensable.
V=74 73BN 0TY,

[Satoshi is taking pictures of himself, using a selfie stick]
[Jay is coming in]

Jay: Hi, Satoshi.

Satoshi: Oh, hi Jay.
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Jay: What are you doing?

Satoshi: I'm going to modify these pictures and make a perfect image of myself!
[looks satisfied, and is about to leave]

Jay [concerned]: Are you sure?

Satoshi [leaving]: Bye!

[Jay is seeing off Satoshi, looking concerned, but suddenly notices that the camera is running]

Well. That’s all for today. Good luck, keep working hard, and see you next time.
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